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<Es’rimc|’ring Weighi>

1 pound = 16 ounces A slice of bread weighs about an ounce.
1 ton = 2,000 pounds A shoe weighs about a pound.

A small car weighs about a ton.

Circle the most reasonable weight for each item pictured below.

1. 2. 3.
2 ounces 1 ounce
1 pound 6 ounces 4 pounds
10 pounds 12 ounces 20 pounds
4. 5. 6.
50 pounds half an ounce 4 ounces
half a ton 12 ounces 1 pound
12 tons 4 pounds 10 pounds
7. 8. 9.
5 ounces 12 ounces
600 pounds 3 pounds 3 pounds
1 ton 10 pounds 15 pounds
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ANSWER KEY

<Es’rimaﬁng Weighi>

1 ton = 2,000 pounds A shoe weighs about a pound.

A small car weighs about a ton.

1 pound = 16 ounces A slice of bread weighs about an ounce.

Circle the most reasonable weight for each item pictured below.

1. 2. 3.
2 ounces 1 ounce
1 pound 6 ounces
10 pounds 12 ounces
4. 5. 6.
50 pounds half an ounce
half a ton 12 ounces
12 tons 4 pounds
7. 8. 9.
5 ounces
600 pounds 3 pounds
1 ton 10 pounds

4 ounces

1 pound
10 pounds

12 ounces

3 pounds
15 pounds
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